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TrigonometryExercise3 for No.9594

3n 327 |
J=—— 6=- i} _
2 3 1=90° 6=2115°
PYNLLE. S E L. 2=(-135)° .7=(-1830)°
6 4 3=30° 8=2100°
77 591 o
Nol=| 3=— 8= . No2 = ) 360
4 6 4=(-300° .9=|—
n T
4= 9=4 ) 120
5=1350° .10=|—
ST L o
S5=— 10=35
i 2 |

5
No3 = { Conditionl = [ Sin(0) = H}, Condition2 =[Sec(0) < 0], Quest = Cot(0) }, , [

<[5
1

No4 = [ Conditionl =[Sin(0) < 0], Condition2 =[Cot(0) = 1], Quest = Sec(0)],

3

‘\‘:iw 2
| |

I

No5 =[A = O,Bzg, Condition = [Tan(0) =21, Quest =[Sin(0) + Sec(e)]}, ,{
No6:[A =7n, B =2, Condition :[Sec(e) :ﬂ, Ouest = [Cot() — CSC(@)]i|, {
N07:{A =§, B =, Condition :{Csc(e) :%}, Quest =[Cot(0) + Sec(e)]}, ,[

no 2 )
No8 = [A =n,B= 7, Condition = [Cos(@) = g}, Quest =[Cot(0) — Csc(@)]}, , {—(}
0001]
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=[5
|

=[5
| |
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TrigonometryExercise3 for No.9608

43 7t
I=n 6=—
3
27 83 m
2= =
3 6
11 = 217
Nol =|.3= S=—
6 4
S5n
A= 9=6
4
257
S= 5 10=0.5

3
No3 = [ Conditionl = [Tan(0) < 0], Condition2 = [ Sin(0) = —} Quest = Cos( 9)

No4 = [ Conditionl = [Tan(0) = 5], Condition2 =

T
Noj5 = [A =0,B= 5, Condition =
T
Nob6 = [A = 5, B =n, Condition =

3xw
No7 = [A =7, B= 7, Condition =

, No2 =

 1=270°
2=60°
3=210°
4=135°

6=2460° |
7 = 405°
8=(-2370)°

(360J°
9=|—
T

. 450\
5=1080° .10=|——

T

[Sin(0) < 0], Quest = Cos(0)],
Cot(@)z%}, Quest = [Sec(e)—Csc(G)]} ,[

Sin(0) =§}, Quest =[Tan(0) + Sec(@)]}, ,{

[
|7

Csc(G):?}, Quest = [Tan(6)+Cos(6)]}, ,{

3 7
N08=[A =7n,B _ 2 1, Condition =[Sec(6) =ﬂ, OQuest = [ Cot() + Sin(e)]}, [
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|
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TrigonometryExercise3 for No.9646
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[ 67m |
I=m 6= _ _
6 1=90° 6=12640°
,__ 2 6= 2=30° .7=2205°
6 4 3=(-45)°  .8=(-870)°
77 371 o
Nol=|3=—— 8= . No2 = . 180
4 3 4=(-300)° .9=|—
7T
L 9-3 o
T3 . B 0 [ 450
5=(-1080)° .10=
O L o
S=— .10=35
L 2 |

1
No3 [ Conditionl = { Sin(0) = —} Condition2 = [Sec(0) < 0], Quest = Tan( 6)

No4 = [ Conditionl = [ Tan(0) = -7], Condition2 =

E

[0<Csc(0)], Quest=Cos(0)],
No5 {A 0,B= E, Condition =[Sin(9) = é} Quest =[Cos(0) — Cot(e)] , [

No6 {A TcB—T,Condition:[Tan(G):ﬂ Quest—[S1n(6)+Cos(9)]} ,[
3n

l—|
«\ﬁ
1

SSaEH

= 0003]

No7 [A——B 2n Condztzon—[Csc(e):-7],Questz[Cot(e)ﬁLSec(G)]} ,[
T

No8 {A—EB 71,Conditionz{Cot(9)=§},Quest=[Cos(9) Csc(e)]} ,[ﬁ}

2
):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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TrigonometryExercise3 for No.9649

RE 11n
[=— 6=- ] _
2 4 1=90° 6=2670°
Lo ® o, B 2=120°  .7=(-660)°
6 3 3=135°  .8=(-2025)
T 37w o
Nol=| 3=—"7" 8=- ,No2 = o 90
3 6 4=(-150° 9=|—
T
PR o
Ty '  enno [ 630
5=1800° .10=|-
AN L T J
5= 10=45

2
No3 = [ Condition] =[Tan(0) < 0], Condition2 = {Cos( 0)= 5}, Quest = Csc(0) }, ,

|

|
7

No4 = [ Conditionl = [0 < Csc(0)], Condition2 = [ Tan(0) =-5], Quest = Sec(0)],

b

No5 = {A =0,B =§, Condition = [Tan(e) =§}, Quest =[Sin(0) — COS(G)]:|, , [

No6:[A =§,B: n, Condition =[Sec(0) =-2], Quest =[Sin(0) — Cot(@)]}, ,[ }

3 -1
N07=[A =7n,B:2 n, Condition =[Sin(9) :;}’ Quest =[Sec(0) — Cot(e)]}, ,{

|

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

4= Comin = =S| ][]
No8 = A=n,B=T, Condition = Tan(O)z; , Quest =[Cos(0)—-Sin(0)] |, ,| ——
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TrigonometryExercise3 for No.9669

T T7
J=—  f=—— i} i
2 3 1=270° 6=1050°
Lo 4r o Al 2=225°  7=(-765)°
3 6 3=(-120)° .8=(-2820)°
T 29 1t o
Nol=| 3=— 8§=-— . No2 = . 180
6 4 4=150 9=|—
7T
=1 93 0
4= 9= B . (990
5=(-2790)° .10=|-—
57 L 0 A
S5=—  10=-65
i 2 |

1
No3 = [Condmon] =[Csc(0) < 0], Condition2 = |:COS(9) = } Quest = Cot(e)

FE

No4 = [ Conditionl = [Tan(0) = 1], Condition2 = [Sin(0) < 0], Quest = Cos(0)], {

N05:{A =0,B=§, Condition = [Sec(0) = 8], Quest = [Sin(e)—Cot(G)]}, ,[

™
1

3n -7
No6 = [A =m,B :7’ Condition = [Csc(@) :Z}’ Quest =[Tan(0) + Sec(@)]}, ,{

=[5
| I

No7:[A =§,B= ., Condition =[Tan(6) =ﬂ Ouest = [ Sec(0) + Csc(e)]}, [

-

o«

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

3 3
No8=[A =7n,B=2 x, Condition :[Sin(6)=7}, Ouest = [ Sec(0) —Cot(e)]}, {
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TrigonometryExercise3 for No.9717
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[ 297 |
A=z 6= _ _
3 1=270° .6=(-1200)°
L., DB 2=(210°  .7=(-570)°
6 6 3=240° .8=(-1305)°
T 17n o
Nol=| 3=-— .8§=- , No2 = . 270
3 4 4=315 9=|"—
sm "
4= 4 9=2 o 990
S5=(-2160)° .10=|-—
25 ¢ L oI
5= 10=35

4
No3 {Condmon] {Cos( 0)= H}, Condition2 = [Cot(0) < 0], Quest = CSC(@):| , [

=[5
1

No4 = [ Conditionl = [Tan(0) =-1], Condition2 =[0 < Sec(0)], Quest =Sin(0)], , [

b'«'\é-

No5 {A 0,B=— Condltlonz[Tan(O)z1],Quest:[Sin(6)+Cos(9)]} ,[

No6 [A n,B= 7, Condition = |:COS(9) :2}, Quest =[Csc(0) Tan(@)]} ,
3n

No7 = [A—T B=2m, Condltlon—[Cot(e)——z} Quest =[Sin(0) — COS(G)] [
T

1.
.. —
~ |
|

X [Page = 0006]

ﬁ

No8 [A——B nCondztlon—[Sec(9)=-5],Quest=[Tan(9)+Sin(9)]} ,[ﬁ

’ }
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TrigonometryExercise3 for No.9763

Nol =

4
No3 = [ Condition] =[Cot(0) < 0], Condition2 = [Cos( 0)= g}, Quest = Csc( 6)}, ,

3n 6ln
A= .6 =
2 6
o 45 1t
2=—— 7=
6 4
T 44
3=—— 8=
4 3
47
A= 9=5
3
257
S=- 10=-0.5
2

,No2 =

1=90°
2=(-315)
3=(-120)°

4=150°

. 990 )’
5=(-1440)° .10= (——j

6=(-510)° ]
7= (-2580)°
8= (-1845)°

270
.92(—j
T

T

No4 = [ Conditionl = [ Tan(0) = -4], Condition2 = [ Sec(0) < 0], Quest = Sin(0)],

No5 = [A =0,B :g, Condition = [Csc(e) 22}, Quest =[Tan(0) — Sec(e)]}, ,{

No6 = {A _ g B =, Condition = {Tan(e) :ﬂ Ouest = [ Sec(0) — Csc(@)]}, , [
3n _ -5

No7 = [A =m,B= T, Condition =[Sm(6) :Z}’ Quest=[Tan(0) — Cos(e)]}, , [—}

No8 = {A =37n, B =2 n, Condition = {Csc(e) =%}, Quest =[Cot(0) + Cos(e)]}, , [—}
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TrigonometryExercise3 for No.9877
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[ 3 531
I=— 6= ] _
2 4 1=90° .6=(-765)°
L 4 Olr 2=150°  .7=1770°
3 6 3=(-300)° .8=1740°
T 25w o
Nol=| 3=-— 8= , No2 = . 270
6 3 A4=(45)° 9=|—"—
T
PR LA o
: 4 : . (990
5=7200  10=|—
191 L T J |
S=-" 10=-45

|
|

1
No3 = { Conditionl = {Cos( 0)= } Condition2 = [ Tan(0) < 0], Quest = Sin( 9) [

b« 5

[ Conditionl = [Tan(0) = -1], Condition2 =[Csc(0) < 0], Quest = Csc(0)], [

No4 =

:(
N05:{A=O,B=§,Conditionz[Sin(O)zl} Quest =[Tan(0) — Cos(e)] ,[ ()}
Noéz{A:E,an,Conditionz{Cot(B):-g’} Quest =[Sin(0) — Cos(@)] ,[ ()}

‘\‘é‘

N07={A =3—n,B=2 n, Condition ={Cos(9) =i}, Quest =[Csc(0) + Tan(e)]} ,[ }
ﬂ}

No8 = [A =m,B =371c’ Condition =[Sin(9) =§}, Quest =[Sec(0) — Tan(e)]}, ,{ v
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TrigonometryExercise3 for No.9911

i 71m |
=7 6= _ _
6 1=270° 6=12370°
Lo 2 O 2=(-60)°  .7=1860°
3 4 3=135° 8 =1585°
5m 2n o
Nol=| 3=—> 8=- ,No2 = o 180
6 3 4=330 9=|—
T
n o
.4:— 4 9:2 o 720
5=1440° 10=|-—"
15~n L T |
S=-= 10=-45

1
No3 [ Conditionl = [ Sin(0) = 5}, Condition2 = [ Cot(0) < 0], Quest = Sec( 9)} ,
No4 =

1

|
|

[ Condition] = [Tan(0) =-2], Condition2 = [0 < Csc(0)], Quest = Csc(0)]

No5 = [A OB—— Condition |:COS(9)—_:| Quest =[Csc(0) — Cot(e)]} ,
T

{L
No6 [A T BzT, Condition:[Sec(e)— } Quest =[Csc(0) Tan(@)]} ,
T

No7 [A——B nConditionz[Csc(O):%},Quest:[Cot(O)JrCos(O)]} ,{ }
R

No8 [A——B 271,Conditionz{Sin(9)=?},Quest=[Tan(9)+Cos(9)]} ,[ﬁ

’ }
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TrigonometryExercise3 for No.10027

X

[Page

0010]

i 3n 63 7 |
= 6=- ) )
2 4 1=180° 6=12565°
L 4 B 2=30° . 7=(-1770)°
3 3 3=60° 8=600°
77 17w o
Nol=| 3=—""" 8= , No2 = o 90
4 6 4=135 9=|—
77 T
H=—— .9==1 540 0
6 5=1890° .10= [— —j
19 ¢ L T |
S=-— 10=25

No3 = [ Conditionl =[Csc(0) < 0], Condition2 = [COS( 0)=

No4 = [ Conditionl = [ Tan(0) =-5], Condition2 = [0 < Sin(0) ], Quest = Cos(0) ],

T
Nojs = {A =0, B=—, Condition =

2

{Sin(e) = ﬂ, Quest =[Tan(0) + Cos(e)]}, ,[

No6 = [A —n B =7n, Condition :[Sin(e) =ﬂ Ouest = [Tan(0) + Sec(@)]}, {
R -7
N07=[A=7,B:2Tc,Conditionz[Cot(e)z2},Questz[Csc(O)—Cos(e)]}, ,[

No§ = [A =§, B =, Condition =[Sec(9) =%} OQuest = [ Cot(0) sm(e)]}, {

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

; }, Quest = Csc(0) }, ,

2

|
|

(e

SR

| I
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TrigonometryExercise3 for No.10063

T 15«
I=— 6= ] _
2 4 1=270° 6=(-750)°
L2, B¢ 2=150° 7= 1860°
4 3 3=315° .8=(-1935)°
K 71 o
Nol=| 3=— 8=- ,No2 = o 270
6 6 4=(-120° 9=|—
s "
.4= 3 9:5 o 450
S5=(-2160)° .10=|-—
27 ¢ L T
=" 10=-45

1
No3 = [ Conditionl = |:COS( 0)= E}, Condition2 = [ Cot(0) < 0], Quest = Sin( 6)}, ,

1

No4 = [ Conditionl = [Sec(0) < 0], Condition2 = [Tan(0) =-1], Quest =Sin(0)], , [

No5 = {A =0,B =§, Condition :[Sin(e) =§}, Quest =[Tan(0) + COS(G)]:|, , [

Noéz[A =T, B=37n, Condition = [Cot(0) =21, Quest = [ Cos(0) — Csc(@)]}, ,{
N07:[A :7719322 n, Condition =[Sin(9) :?}, Quest=[Cot(0) — COS(e)]:|, ,[

{ kil . | } [w
No8=| 4= 2,B=TC, Condition =[Sec(0) =-7], Quest =[Tan(0) +Sin(0)] |, ,
0011]
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TrigonometryExercise3 for No.10120
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i T 43 7 |
I=— .6=- ] _
2 6 1=180° .6=(-2490)°
Lo lr 2=300°  .7=(-1500)°
6 3 3=(-150)° .8=1215°
27 63 o
Nol=|3=—" 8=- ,No2 = o 360
3 4 4=225° 9=|—
T
== 9=1 o
4 ' e [ 450
5=1080° .10=
Tn L T
.5:7 A0=-4.5

1
No3 = [ Conditionl = |:COS( 0)= ;}, Condition2 = [ Sin(0) < 0], Quest = Cot( 6)}, ,

1
L1

No4 = [ Conditionl =[Cot(0) = 5], Condition2 =[Sin(0) < 0], Quest = Sec(0)],

No5 = [A =0,B :g, Condition = [Tan(@) :%}, Quest =[Sec(0) + Csc(e)]}, ,{

yis 1
N06:{A =T,B =2 m, Condition :[Cos((?)) :g}, Quest =[Csc(0) + Cot(e)]}, ,[

N07=[A = n,Bz%, Condition z[Cot(G) :%}, Quest =[Sec(0) + Csc(e)]}, ,{ }

| I |

2

|

=5 5= o= )3 | ] [ 7]
No8 = A=E,B=n, Condition = Tan(e)zg , Quest =[Cos(0) —Sin(0)] |, ,| ——
[Page = 0012]
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TrigonometryExercise3 for No.10367
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i R 511 |
I=—— 6= ] _
2 4 1=180°  .6=(-2580)°
Lo 2, lm 2=150°  .7=(-1395)°
3 3 3=(-60)°  .8=390°
11r 657E o
Nol=|.3=- == ,No2 = o 90
6 6 4=225 9=|—
3n "
.4=— 4 9:1 o 540
5=(-2520)° .10=|—
21 ¢ L T J |
S=- 10=-15
i 2 ]

1
No3 = [ Conditionl = [Sec(0) < 0], Condition2 = [Sln( 0)= —} Quest = Cot( 6) l:

_\g

No4 = [ Conditionl =[Cos(0) < 0], Condition2 =[Cot(0) =-1], Quest = Csc(0)], {
No5 {

b2

A=0,B =§, Condition = [Cot(0) =21, Quest =[Sec(0) — Csc(0)]

x‘ﬁ
L 1

1

|

= 0013]

No6 {A n, B=""—, Condition =[Csc(0) =-2], Quest =[Sec(0) Tan(@)]} ,
No7 [A——B T, Conditionz[Sin(@)z%},Questz[Cot(6)+Cos(9)]} ,[ }
43 | [
No8=| A=—",B=2mn, Condition=[Cot(0) =-1], Quest = [ Csc(0) — Sec(0)] , —(

>
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TrigonometryExercise3 for No.10372

T 83 7
I=— 6=- _ )
2 6 1=180° .6=(-1560)°
L., D 2=225°  .7=(-1470)°
3 3 3=120° .8=1665°
T 317 o
Nol=| 3=—— 8= , No2 = o 270
4 4 4=150 9=|—
117 T )
5=1440° 10=|-—
57 L T |
S5=—"— 10=55
i 2

1
No3 = [ Condition] =[Cot(0) < 0], Condition2 = [Cos( 0)= g}, Quest = Csc( 6)}, ,

|
|

SR

No4 = [ Conditionl = [ Cot(0) =-3], Condition2 =[0 < Sin(0)], Quest = Sec(9)],

b

NoS5 =[A =0,B =§, Condition =[Csc(0) = 2], Quest =[Tan(0) — Sec(e)]}, ,[

=[5
| |

3n 1
Noéz{A :7’ B =2 n, Condition ={Cos(9) :5}, Quest =[Csc(0) — Tan(@)]}, ,[

|

3 1
No7=|A4= n,BzTE, Condition :{Tan(e) :Z}’ Quest =[Sec(0) — Csc(e)]}, ,{

|

n 3 -9 )
No8 = [A = E’ B =mn, Condition = [ Sec(0) = E}, Quest =[Csc(0) + Cot(e)]}, , [—(}
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X

6
No§ = {A =§, B =, Condition = {Tan(e) =7}, OQuest = [ Sec(8) Sin(e)]}, , [
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TrigonometryExercise3 for No.10375
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[ T 45 |
I=— 6=- _ ]
2 4 1=180° .6=2370°
L2, B 2=225°  .7=(-2220)°
6 6 3=210° .8=(-2655)
Tn 14t o
Nol=|3=—-— 8= , No2 = . 360
4 3 4=(-300° 9=|—
4=— 9-4 e
3 T _ o _ EEEl
5=(-2520)° .10=
25 ¢ L T
S="1 10=-65

No3 = [ Conditionl =[Cos(0) < 0], Condition2 = { Sin(0) =

N—

%}, Quest = Tan(e)}, , {L(}

No4 = [ Conditionl = [Tan(0) =-1], Condition2 = [Sin(0) < 0], Quest = Sec(0)], , [ .' }

No5 = {A =0,B= g, Condition =[Sin(9) = %}, Quest =[Cot(0) — COS(@)]:|, , [

No6 = [A —n B= 7“ Condition = [ Sin(0) = ﬂ Ouest = [Cos(0) - cOt(e)]}, , {

-6
N07=[A ZTTE,B:2 n, Condition =[C0t(9) =?}, Quest =[Cos(0) + Csc(e)]}, ,[

A SREaENS
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TrigonometryExercise3 for No.10426

i 1ln |
I== 6= _ _
3 1=270° .6=(-1320)°
L., 2 2=225° 7 =1590°
4 4 3=(-240°  .8=2835°
2n 67 o
Nol=| 3=—7" 8=- ,No2 = o 180
3 6 4=150 9=|—
T
P 9=4 0
6 ' ~ 0 630
5=(-1080)° .10=|-
27 ¢ L T J |
S=- 10=-45

4
No3 = [ Conditionl = {Cos( 0)= —} Condition2 = [ Tan(0) < 0], Quest = Csc( 9) [

«Eh

No4 = [ Conditionl =[Cos(0) < 0], Condition2 = [ Tan(0) = 3], Quest = Csc(0)],

No5 = {A =0,B= g, Condition =[Sin(9) = l} Quest =[Sec(0) — Tan(e)] , [

(e

Nob6 = [A T, B—% Condztzon—[Cos(e)— 1} Quest=[Sin(0) — Tan(e)] [

e

No7 = {A—%B 2m, Condztlon—{Sec(e)—é} Quest =[Tan(0) — Csc(e)] [

n N 8 | f
No8 = {A =5, B =n, Condition = {Cot(@) = g}, Quest =[Sin(0) — Cos(@)]}, , [—(}

X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKKXKKKKKXXXKKKKKKKK KKK XXX KKK KKK KKK KKK KKK KKK KK KKKKKK




X

[Page

TrigonometryExercise3 for No.10628
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[ 17 7 |
I=mn 6=-— _ _
6 1=90° .6=(-1380)°
L., BT 2=120° . 7=(-1035)°
6 3 3=(-150)° .8=(-1470)°
o 17n o
Nol=| 3=-— 8= , No2 = . 180
4 4 4=(-315)° 9=|—
T
=2 9-3 0
T3 T _ 0 _ fﬂll
5=2610° .10=|-
11 m L T J |
S=-T7 10=45

No4 = [ Conditionl =[0 < Csc(0)], Condition2 =[Cot(0) =-1], Quest = Csc(0)], [L(}

No5 = {A =0,B =§, Condition = {Tan(e) =§} Quest =[Sin(0) + Cos(G)] , [

4= contion= s -3 | o] [2]
Nob6 = A:n,B:T, Condition = Sec(@):z , Quest =[Tan(0) + Sin(0) | N
3n

3 8 /)
No7 {A :7 B =2 n, Condition = {Tan(e) =—} Quest =[Cos(0) — Csc(e)]} , [—(}
T

No8=| A= E’ B =m, Condition =| Csc(0)== |, Quest =[Tan(0) — Cos(e)] ,
0017]
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TrigonometryExercise3 for No.11408

i 357 |
A=z 6=— _ _
6 1=90°  .6=(-2820)°
o 3m o 10 2=(210)° .7=(-2115)°
4 3 3=(-225)° .8=(-2190)°
Sw 597 o
Nol=| 3=— 8=- ,No2 = o 90
6 4 4=60 9=|—
T
=T gy o
4= 7= o (810
5=1530° .10=|—
15~ L n J |
== .10=-25

7

No4 = [ Conditionl = [Sec(0) < 0], Condition2 = [Tan(0) = -4], Quest = Csc(0)],

b

1
No3 = [ Condition] =[Cot(0) < 0], Condition2 = [Cos( 0)= —}, Quest = Csc( 6)}, , {

aEHE

No5 = {A =0,B =§, Condition :[Sin(e) =%}, Quest =[Tan(0) — COS(G)]:|, , [

|

Nob6 = [A =m,B :37n’ Condition = [Cos(@) :g}, Quest =[Cot(0) — Sin(@)]}, ,{

|

3 y 8 | )
No8 = [A = 7’ B =2 n, Condition = [Tan(@) = ;}, Quest =[Sin(0) — Sec(e)]}, , {—(}
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N07=[A zg,B =1, Condition =[Sin(9) :%}, Quest =[Cos(0) — Cot(e)]}, ,[
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TrigonometryExercise3 for No.11560

65T
A=z 6=— _ _
6 1=90°  .6=(-2370)°
L., B 2=210°  .7=1845°
3 4 3=(-300° .8=960°
K 23w o
Nol=|3=—" 8= ,No2 = o 270
4 3 4=135° 9=
T
2 o
5=2160° .10=|—
231 L T J
5== 10=15

3
No3 = [ Conditionl = {Cos( 0)= g}, Condition2 =[Sin(0) < 0], Quest = Tan( 9)}, ,

1

No4 = [ Conditionl = [ Cot(0) =-2], Condition2 = Sec(0) < 0], Quest = Sin(0)], ,{

No5 = [A =0,B =§, Condition = {Cot(e) zg}, Quest =[Sec(0) — Csc(e)]}, , [

Nob6 = [A :3775, B =2 n, Condition :[Sin(e) =%}, Quest =[Cot(0) + Sec(@)]}, ,{ }
ﬂ}

(

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKKKXXXKKKKKKKKK XXX KKK KKK KKK XKL KKK KKK KKK KKK KKK KKKK

No7:[A =§,B= ., Condition =[Tan(6) =ﬂ, Ouest = [ Sec(0) + Csc(e)]}, [

3 7
No§ = [A B =7n, Condition = [CSC(@) =ﬂ, Quest = [ Cot() + Sec(e)]}, , [
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TrigonometryExercise3 for No.11806
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i T 177 |
== 6= _ _
2 3 1=180° .6=(-2130)°
L, B 2=330°  .7=(-675)
6 4 o o
3=(-45)° .8=(-2760)
R 43 1t o
Nol=| 3=—7 8= ,No2 = o 270
4 6 4=240° 9=
27 T o
4= 3 9=2 o 900
5=1350° .10=|—
131 L b
=== 10=0.5

2
No3 [ Conditionl = [ Cot(0) < 0], Condition2 = [Cos( 0)= —} Quest = Csc( 6)

No4 = [ Conditionl =[Csc(0) < 0], Condition2 =

|

{L
[Tan(0) =31, Quest =Cos(9)], [L}
No5 {A 0 B:E’ Condition:{Tan(O)zi} Quest—[Sln(9)+Cos(6)] ,[ }

Nob6 = [A——B 7, Condition =[Csc(0)=5], Quest—[Tan(6)+Cos(6)] ,{

{ i [ 5} } [/\/7

No7=|A=mn,B= 5 , Condition =| Tan(0) = |, Quest =[Sin(0) + Sec(0)] N
3n . -3

No8 = [A =7, B =2 n, Condition =[Sm(9) = Z}’ Quest =[Sec(0) Cot(O)]} ,

[ - 5 |: :|
XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX

< [= \ﬁ
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TrigonometryExercise3 for No.12219

i 3r 77 1|
l=—"— . 6=- _ .
2 6 1=180°  .6=2580°
o 2m o, B 2=135° .7=1125°
3 4 3=120° .8=(-1830)°
S5n 387 o
Nol=| 3=—7 8= , No2 = o 360
4 3 4=150° 9=|—
i "
.4: 6 9:2 o 540
5=1440° 10=|—
RIW L T J
S=- 10=6.5

5
No3 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Sin(0) = 5}, Quest = Tan( 6)}, ,

1

No4 = [ Conditionl = [Tan(0) = 2], Condition2 = [Cos(0) < 0], Quest =Sin(0)], ,

| IS

No5 = {A =0,B zg, Condition = [Cos(e) 23}, Quest =[Tan(0) — Csc(e)]}, , {

L 1

No6 = {A _ g B =, Condition = {cm(e) - ﬂ Ouest = [ Cse(0) — COS(@)]j|, , [

3 -5
N07=[A =m,B :775, Condition :[Sin(e) =7}, Quest =[Cot(0) + Cos(e)]}, ,{

N08=[A =371c’ B =2 n, Condition =[Csc(0) =-4], Quest =[Tan(0) — Cos(e)]}, ,{ }
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TrigonometryExercise3 for No.12954

[ 3n 197 |
[=—— 6= _ _
2 6 1 =180° 6=510°
o 2 2=(-60)° .7=(-1125)°
6 3 3=(210)° .8=1680°
27 63 m o
Nol=| 3=—"— .8=- , No2 = . 360
3 4 4=135°  9=|—
T
PE. S 0
4=- 9= ) . (450
5=(-360)° .10=|——
27 L T
S=- 10=-25
L 2 i
1
No3 = [ Conditionl = |:COS(9) =—

8}’ Condition2 = [Csc(0) < 0], Quest = Csc(e)}, ,

|
[+

% B—2n. Condition =[Sin(e) :%} Ouest = [ Sec(0) — CO‘[(B)]}, , {
3

No4 = [ Conditionl = [Csc(0) < 0], Condition2 =[Tan(0) =-5], Quest = Sin(0)],

o

1

N05=[A:0,B:£,Conditionz[Tan(9)=2],Quest:[Sin(G)—Cos(e)]}, ,[
{ 3
No6=| A

[Page = 0022]

B

No7 = A=n,B=7n, Conditionz[Csc(O)z?},Questz[Cot(6)+Sec(9)]}, ,[ ‘(}

s -3 . Al2)
No8 = [A =—_, B=mn, Condition = [COS(G) = 7}, Quest =[Tan(0) — Sm(O)]}, , {—
O0/0:0:0:0:010:010:0:0:0:0.00.0.0.0.0.0.0.:0.0:0:0:0:0.:0.0.0.0'0:0.0:0.0.:0.0.:0.0.:0.0.0.0.0.0'0.0.0.0.0.:0:0.0.0.0.0.0.0:0.0:0:0.0.0.0.:0.0.0.0.0.0:0.0.0.0:0:0.0:0.0.0.0.0.0.0.0:0.0.0:0'0:0.0:0. 0.0

o«
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TrigonometryExercise3 for No.12964

T 91 &t
I=—  6=- i _
2 6 1=270° 6="780°
Lo 2, 2 2=210° .7=1470°
4 4 3=315° .8=2205°
lln 26% o
Nol=|.3=— 8= . No2 = . 360
6 3 4=(-300° 9=|—
T
g2 g6 0
T 3 : B o B 720
5=1080° .10=|—
77 L i i
S5=——  10=-15
i 2 |

1
I

2
No3 = [ Conditionl = {Cos( 0)= 5}, Condition2 = [ Tan(0) < 0], Quest = Csc(0) }, ,

No4 = [ Conditionl = [ Cot(0) =-3], Condition2 =[0 < Sec(0)], Quest =Sin(0)], ,

|

No7 = [A—% B=2m, Condztlon—[Sm(O)— 1} Quest—[Tan(9)+Sec(6)] { }
[£
(
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|

No5 = [A =0,B =§, Condition = {Csc(e) :z}, Quest =[Cot(0) + Sec(e)]}, , [

\ﬁ*‘ﬁ

Nob6 = [A T, B—% Condztzon—{Csc(e)— 8} Quest = | Tan(9)+Cos(6)] {

9=

.
No§ = {A _ g B =, Condition = {cm(e) _ ﬂ, Quest = [ Sin(0) + COS(@)]}, ,
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TrigonometryExercise3 for No.12971

_ o
== 6="" _ _
3 1=270° .6=(-1050)°
L 4, P 2=(-315)°  .7=(-600)°
3 4 3=210° 8 =1665°
T 131 o
Nol=| 3=— 8= , No2 = . 270
6 6 4=60 9=|—
T
2 o
4:4 9:7 o 540
5=2250° 10=|-—
15n L T /)
S==" 10=-15

No4 = [ Conditionl =[Sin(0) < 0], Condition2 =[Tan(0) = 5], Quest = Sec(0)],

2

1
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [ Sin(0) = Z}, Quest = Cos( 9)}, , {

-

No$5 = [A =0,B =§, Condition = {Cot(e) =§}, Quest =[Sin(0) + Sec(e)]}, ,{

Noéz{A:TR,B:ZR,Condition:[Csc(O):-3],Quest:[Cot(6)+Cos(6)]}, ,{
N07:{A=§,B:Tc,Conditionz{Sec(G)z?},Questz[Csc(9)+Tan(9)]}, [ }

3n o o
No8 = A=n,B=T, Condition = Sln(9)=5 , Quest=[Tan(0) —Cos(0)] |, ,| ——
X [Page = 0024]
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|
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TrigonometryExercise3 for No.13023

[ R 157 |
I=— 6=- _ _
2 4 1=180°  .6=(-1485)°
Lo 2, 3= 2=120°  .7=1860°
4 6 3=(-45)° 8=870°
Sw 16 © o
Nol=| 3=—"" 8= , No2 = . 270
3 3 4=30 9=|"—
I "
.4:— 6 9:2 o 540
5=(-630)° .10=|-—
131 L T J |
S=-T 10=-15

2
No3 = [ Conditionl =[Sin(0) < 0], Condition2 = |:COS(9) = ;}, Quest = Cot(e)}, ,

No4 = [ Conditionl = [0 < Cos(0)], Condition2 = [Cot(0) =-2], Quest =Sin(0)],

2

|
|

BE

No5 = [A =0,B zg, Condition = [Cot(e) =§}, Quest =[Cos(0) — Csc(e)]}, ,{

I

132 ot I
No6 = A:T,B:ZR, Condition =[Cot(0) =-2], Quest =[Csc(0) — Sec(0)] |, , —(
N07=|:A=TE,B=TR, Condition =[Tan(0)=1], Quest:[Sin(G)—Cos(G)]}, ,[

No8 = {A = g, B =, Condition :{Sec(e) = %}, Quest =[Csc(0) — Tan(e)]}’ , [ﬂ}
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TrigonometryExercise3 for No.13033

[ R 277 |
I=— 6= _ _
2 4 1=90° .6=1395°
Lo, 2 2=(225)°  .7=1200°
6 3 3=(-120)° .8=(-930)°
4n 61ﬂ o
Nol=| 3=— 8= , No2 = . 180
3 6 4=(-330)° .9=|—
4=——  9-4 e
___4 T _ o _ _QEQ
5=2070° .10=
AN L T ) |
S=" 10=235

=[5
| |

5
No3 = [ Conditionl =[Tan(0) < 0], Condition2 = [ Sin(0) = H}, Quest = Sec( 9)}, , [

No4 = [ Conditionl = [0 < Sin(0) ], Condition2 = [ Cot(0) =-2], Quest = Sec(9)],

2

=[5
|

L 1

No5 = {A =0,B zg, Condition = [COS(@) zg}, Quest =[Cot(0) + Sin(e)]}, , [

B

No6 = [A - g B =, Condition = [ Sin(0) = ﬂ Ouest = [Tan(0) + Cos(e)]}, , [

|

-

N08=[A =371c’ B =2 n, Condition =[Sec(9) =§}, Quest =[Csc(0) — Cot(O)]}, ,{ v

X [Page = 0026] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXKXXXXKKKKKKK KKK XXX KK KKK KKK L KKK KKK KKK KKK KK KKKKK

3 -4
No7 = [A =m,B :Tn’ Condition = |:COS(9) :;}’ Quest=[Tan(0) + Sin(e)]}, , [
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TrigonometryExercise3 for No.13197

i T 537 |
I=— 6= ] _
2 4 1=270° .6=(-495)°
Lo 3, A0rm 2=45° 7=2370°
4 3 3=(-210)° .8=(-1920)°
T 71 o
Nol=| 3=—"7" 8=- ,No2 = o 270
3 6 4=120° 9=
T
4 I1n 95 .
7T 6 o eapo _(810
5=1530° .10=
11 m L b
S=" 10=-45

1
No3 = [ Conditionl = {Cos( 0)= 5}, Condition2 = [ Tan(0) < 0], Quest = Sin( 9)}, ,

No4 = [ Conditionl = [ Tan(0) = 4], Condition2 = [ Sec(0) < 0], Quest = Csc(0)],

2

1 —

| I

No5 = [A =0,B =§, Condition = {Csc(e) 23}, Quest =[Sec(0) — Cot(e)]}, , [

Noéz[A =§, B =, Condition :[cm(e) :ﬂ Ouest = [ Cse(0) — Sec(e)]}, [
N07:{A =3TR,B =2 n, Condition :{Cos(e) =§}, Quest =[Sin(0) — Cot(e)]}, ,[

No8 = [A =mn,B =37n, Condition = {Tan(e) =%}, Quest =[Sec(0) + Csc(e)]}, , {
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TrigonometryExercise3 for No.13907
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i 45 |
A=z 6=— _ _
4 1=270°  .6=(-2475)°
L., B 2=330° .7=1320°
6 6 3=45° .8=(-870)°
Sw 32m o
Nol=|3=—" 8= ,No2 = o 90
4 3 4=(-240)° 9=|—
27 T o
.4: 3 9:7 o 540
5=2160° .10=|—
17 L T J
5= 10=-65
i 2 ]
_ 4
No3 = { Conditionl = { Sin(0) =

5

|
|

|

No4 = [ Conditionl = [0 < Csc(0)], Condition2 =[Cot(0) =-7], Quest = Sin(0)],

}, Condition2 = [Cos(0) < 0], Quest = Tan(e)}, , [
i 4
No5 = [A =0,B= E, Condition = [Tan(@) =

5}, Quest =[Sec(0) — Csc(e)]}, , {L()}
{ 3
Nob6 =
2

T
A=—"",B=2mn, Condition =[Csc(0)=-3], Quest =[ Tan(0) + Sec(0)]

N07=[A zg,B =1, Condition =[Tan(6) :%}, Quest =[Sin(0) + Cos(e)]}, ,[

No8 = [A =n,B= 771, Condition = [Cot(@) = %}, Quest =[Sin(0) — Cos(e)]}’ ’ [ﬂ}
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TrigonometryExercise3 for No.13991
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[ 317
A=z 6=— _ _
6 1=90° .6=(-2655)°
L A e 2=135°  .7=(-2580)°
3 3 3=(-210)°  .8=1830°
Sw 331 o
Nol=| 3=— 8= , No2 = ) 180
4 4 4=300 9=|—
T
PIREEE P 0
T 6 ' o neno _[ %00
5=1080° .10=|-
231 L T J |
S=- 10=-65

1
No3 [ Conditionl = [Cos( 0)= g}, Condition2 = [Cot(0) < 0], Quest = Csc( 6)} ,

No4 = [ Conditionl = [Sin(0) < 0], Condition2 = [ Tan(0) =-7], Quest = Sec(0)],

3

1

o

No5 {A 0B:;,Conditionz[Sin(e)—é} Quest—[Tan(9)+Sec(6)]} ,[
3w

B
o
No6 = [A n, B=—"—, Condition =[Sec(0) =-4], Quest =[ Cot(0) + Sm(@)] [L()}

= 7 [
No7=| A= > B n, Condition = Cot(e)— , Quest =[Csc(0) — Sec(e)] "

3n | o

No8 =| A=—"—,B=2mn, Condition=[Tan(0) =-4], Quest =[Sin(0) + Cos(0)] |, , —(
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TrigonometryExercise3 for No.14005

737
I=n 6=-— _ _
6 1=270° 6=(-480)°
Lo 2, B¢ 2=45°  7=(-945)
6 4 3=240° .8 =1590°
S5m 107 o
Nol=|3=—" 8=- , No2 = . 270
3 3 4=330 9=|—
T
4o 1Z g5 o
4 _ o o[ 810
5=(-1080)° .10=|-
Tm L T ) |
S=—  10=15
i 2 |

1
No3 = [ Conditionl = [ Sin(0) = 5}, Condition2 = [ Tan(0) < 0], Quest = Cos( 9)}, ,

1
| IS

No4 = [ Conditionl = [ Cot(0) = 2], Condition2 = [ Sec(0) < 0], Quest =Csc(0)],

3

| |

No5 = {A =0,B zg, Condition =[Sin(9) =§}, Quest =[Cos(0) — Cot(e)]}, , [

No6 = [A :g, B = . Condition = [Cos(@) :ﬂ OQuest = [Tan(0) — sm(e)]}, , {

3 -8
N07:{A =Tn,B=2 n, Condition =[Cot(9) =;}, Quest =[Sec(0) + Csc(e)]}, ,{

4= Comion = )= ][]
No8 = A=n,B=T, Condition = Tan(6)=g , Quest =[Csc(0)—Cos(0)] |, ,| ——

[Page = 0030]

|

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK KKKKKKKMS/1-6600303-00031XX

TrigonometryExercise3 for No.14157

3 37w
I=— 6= _ ]
2 4 1=90° .6=(-960)°
S, e 2=30°  .7=(-855)°
6 3 3=(-120)° .8=(-1290)°
Sw S9mw o
Nol=|.3=- 8= , No2 = . 180
3 6 4=(-225° 9=|—
REs T o
.4: 4 9:7 o 450
5=1440° 10=|—
Tn L T J ]
S=— 10=-25
2 ]

‘j

1
No3 = [ Conditionl = { Sin(0) = —} Condition2 = [Sec(0) < 0], Quest = Tan( 6) {

ﬁ

No4 = [ Conditionl =[0 < Cos(0)], Condition2 = [Tan(0) = -3 ], Quest = Csc(0)], [

No5 z[A =0,B zg, Condition =[C0t(9) =§} Quest =[Sin(0) + Cos(e)] ,[

,§‘<LT
| |
1

Nob6 = {A TEB_% Condition = [Sec(0) =-2], Quest =[Sin(0) — Tan(@)]} ,[

N07=|:A=3TR,B=2TE, Conditionz{Cos(G)z%}, Questz[Csc(9)+Tan(9)]}, ,[ }
n y 7 )
No8 = [A = E’ B =mn, Condition = [Cot(e) = ;}, Quest =[Sec(0) + Csc(e)]}, , [—(}
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